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Losung Al

a) f'(x) =2x-(sin(2x) + xcos -(2x)) f"(x) = (2 — 4x3)sin(2x) + 8xcos(2x)

4(2x3-9x2-9)

/ 4x(x—3) "
b)  f() =g A C R e SEREEE
Q) fl)=—"" ) = ——2
(1+2x)z (1+2x)2
d) f'(x) =e*- (sin(x) + cos(x)) f'(x) = 2e* - cos(x)
e) f'(x)=n-a™-In(a) f"(x) =n?-a™ -In?(a)

) f=x*-G-nx+1)

() =x3- (20 - In(x) +9)

Losung A2
’ _ 1 17 —_
a) f (x) - (x—l)z f (x) (x— 1)3
x2(2x-3) 2x(x2-3x+3)

) S0 =35

Tll

fr0 = 2

nx"2(x"(n-2)-2n+2)

) 0= fre = 41—
ptanx tanx o2
d) =55 F(x) =& (Ztir;i?(;;s (@)+1)
e) f't)=2-p*-in(p) f'(x) =4-p** - In*(p)
f) f’(x) = ——W f”(x) — (%‘0@
L6ésung A3
) =Sy 0 = s
by f'(x)= _% £10x) = 2(x* _(91;12;369”8)
INORS = ') =73
d f= —% £ (x) = 6(x5_4&43;9;3x;819323+2x_7)
9 [l )_(x+1)2 frx )—%
f) f’ (x) = x(2 Slr;(;:l)Z_(i;OS(x))
F'(x) = (x2+2) sin?(x)—4xcos(x) sin(x) +2x2cos? (x))

sin3(x)
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